# Meet Results By Division Varsity Girls

## 100 M Dash

Place	Contestant	School	Time
1st	Spraggins	ACHS	12.74
2nd	Taylor	Coleman	13.10
3rd	L. Snyder	Eastland	13.47
4th	J. Davis	Albany	13.89
5th	Reyna	Coleman JV	14.07
6th	Presiev	Albany	14.09

## 1600 M Run

Place	Contestant	School	Time
1st	Gunter	Eastland	6:23.52
2nd	Casselberry	Coleman	6:31.63
3rd	Heather Leker	Cisco	6:32.39
4th	Fowler	Albany	6:40.32
5th	Cruz	Coleman	6:42.72
6th	Anna Rodriguez	Cisco	6:58.27

## 200 M Dash

Place	Contestant	School	Time
1st	Martika Ybarra	Cisco	27.64
2nd	L. Snyder	Eastland	28.30
3rd	Copie Escobedo	Cisco	28.31
4th	Spraggins	ACHS	28.36
5th	birdwell	Coleman	28.44
6th	Rylant	Coleman	29.01

### 3200 M Run

Place	Contestant	School	Time
1st	Gunter	Eastland	13:53.90
2nd	Casselberry	Coleman	14:21.70
3rd	Liz Robledo	Cisco	15:01.70

## 400 M Dash

Place	Contestant	School	Time
1st	Bassett	Haskell	1:05.03
2nd	Torres	Haskell	1:06.90
3rd	DeLeon	Coleman	1:07.32
4th	Lindsey Hennington	Cisco	1:07.73
5th	Bumguardner	Albany	1:08.79
6th	Heath	Coleman	1:09.09

## 4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Wilcox Carmichael Bassett Reid	Haskell	52.88
2nd	Copie Escobedo Sundae Starr Jessica Friend Martika Ybarra	Cisco	53.40
3rd	H. Owen C. Noble Schkade Viertel	Albany	53.63
4th	Morales DeLeon birdwell Rylant	Coleman	54.04
5th	Reyna McKinnon Grissom roberts	Coleman JV	57.11

### 800 M Run

Place	Contestant	School	Time
1st	Torres	Haskell	2:38.17
2nd	Hearn	Haskell	2:39.97
3rd	Ellie Shawver	Cisco	2:43.66
4th	Bumguardner	Albany	2:43.96
5th	Cruz	Coleman	2:51.48
6th	Presley	Albany	2:53.85

# Meet Results By Division Varsity Girls (Continued...)

## 4 x 200 (800 M) Relay

Place	Contestants	School	Time
1st	Ci#1 Ci#2 Ci#3 Ci#4	Cisco	1:52.89
2nd	Co#1 Co#2 Co#3 Co#4	Coleman	1:55.93
3rd	Al#1 Al#2 Al#3 Al#4	Albany	2:02.53
4th	Ha#1 Ha#2 Ha#3 Ha#4	Haskell	2:03.34
5th	CJ#1 CJ#2 CJ#3 CJ#4	Coleman JV	2:06.09

## 4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Ci#5 Ci#6 Ci#7 Ci#8	Cisco	4:24.15
2nd	Ha#5 Ha#6 Ha#7 Ha#8	Haskell	4:28.34
3rd	Co#5 Co#6 Co#7 Co#8	Coleman	4:34.10
4th	Al#5 Al#6 Al#7 Al#8	Albany	4:34.15

### 100 M Hurdles

Place	Contestant	School	Time
1st	Wallace	Haskell	16.59
2nd	Buzzard	Coleman	17.30
3rd	Jessica Friend	Cisco	17.54
	Donica Charles	Cisco	18.44
5th	Grissom	Coleman JV	19.39
6th	Payne	Coleman	19.46

## 300 M Hurdles

Place	Contestant	School	Time
1st	Schkade	Albany	50.36
2nd	Buzzard	Coleman	51.51
3rd	Ellie Shawver	Cisco	54.37
4th	Jessica Friend	Cisco	55.61
	Casselberry	Coleman	57.65
6th	Grissom	Coleman JV	58.94

## Long Jump

Place	Contestant	School	Distance
1st	Jaryn Koenig	Cisco	16'-4"
2nd	Morales	Coleman	14'-10 1/2"
3rd	Codi Roberts	Cisco	14'-6"
4th	DeLeon	Coleman	14'-3"
	Copie Escobedo	Cisco	13'-7 1/2"
6th	B. Spruill	Eastland	13'-5"

## **Shot Put**

Place	Contestant	School	Distance
1st	Ashlee Wainscott	Cisco	34'-0 1/2"
2nd	Capri Berry	Cisco	31'-8"
3rd	Short	Haskell	29'-7"
4th	Emily Edwards	Cisco	28'-3 1/2"
5th	V. Cruz	Coleman	26'-7"
6th	Klose	Haskell	24'-5 1/2"

#### Discus

Place	Contestant	School	Distance
1st	Emily Edwards	Cisco	116'-3"
2nd	Capri Berry	Cisco	112'-7"
3rd	Vinson	Albany	72'-6"
4th	Erika Graham	Cisco	69'-3"

# Meet Results By Division Varsity Girls (Continued...)

## Triple Jump

Place	Contestant	School	Distance
1st	Lindsey Hennington	Cisco	32'-7"
2nd	L. Snyder	Eastland	32'-6"
3rd	Ellie Shawver	Cisco	32'-2"
4th	Taylor	Coleman	30'-9"
5th	Bylant	Coleman	30'-2"
6th	Hartado	Coleman JV	29'-6"

## High Jump

Place	Contestant	School	Height
1st	J. Davis	Albany	4'-10"
2nd	Lindsey Hennington	Cisco	4'-8"
3rd	H. Owen	Albany	4'-6"
4th	birdwell	Coleman	4'-4"
5th	Strickland	Coleman	4'-4"
6th	L. Carr	Eastland	4'-4"

## Pole Vault

Place	Contestant	School	Height
1st	Sundae Starr	Cisco	9'-0"
2nd	Jessica Friend	Cisco	8'-0"
3rd	C. Noble	Albany	7'-6"

# Meet Results By Division Varsity Boys

## 100 M Dash

Place	Contestant	School	Time
1st	Corbin	Albany	11.45
2nd	Vegas Hastings	Cisco	11.46
3rd	Rosales	Albany	11.51
4th	Brothers	Albany	11.52
5th	Sherman	ACHS	11.97
- 6th	Mackey	ACHS	12.03

### 200 M Dash

Place	Contestant	School	Time
1st	Vegas Hastings	Cisco	23.48
2nd	Corbin	Albany	23.82
3rd	Fillman	Haskell	24.01
4th	Hudson	Albany	24.51
5th	Barron	Eastland	24.58
6th	Bradley Toler	Cisco	25.35

### 400 M Dash

Contestant	School	Time
Stormy Smothers	Cisco	52.58
Brothers	Albany	55.00
F. Salazar	Albany	55.72
	Albany	56.66
	Cisco	57.39
	Haskell	58.36
	Stormy Smothers	Stormy Smothers Cisco Brothers Albany F. Salazar Albany A. Salazar Albany Bradley Toler Cisco

## 800 M Run

Place	Contestant	School	Time
1st	Rodriguez	Haskell	2:06.95
2nd	F. Salazar	Albany	2:09.29
3rd	Mercer	Eastland	2:11.66
4th	A. Salazar	Albany	2:13.11
5th	Aguero	Haskell	2:14.79
6th	Jacob Grace	Cisco	2:21.82

### 1600 M Run

Place	Contestant	School	Time
	Dillon Shawver	Cisco	5:17.50
2nd	Aguero	Haskell	5:17.77
3rd	Jacob Grace	Cisco	5:43.47
4th	Tom Nicks	Cisco	5:56.09

## 3200 M Run

Place	Contestant	School	Time
1st	Tom Nicks	Cisco	13:06.69

## 4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Barron Berry Farmer Mercer	Eastland	46.26
2nd	George Calsadillas Erick Miller Bradley Toler Vegas Hastings	Cisco	48.20
3rd	Shoncer Montgomery Martinez Lane	ACHS	49.02

## 4 x 200 (800 M) Relay

Place	Contestants	School	Time
1st	Ci#1 Ci#2 Ci#3 Ci#4	Cisco	1:34,09
2nd	Ha#1 Ha#2 Ha#3 Ha#4	Haskell	1:35.06
3rd	Ea#1 Ea#2 Ea#3 Ea#4	Eastland	1:39.52
4th	AC#1 AC#2 AC#3 AC#4	ACHS	1:43.22

# Meet Results By Division Varsity Boys (Continued...)

## 4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Ci#5 Ci#6 Ci#7 Ci#8	Cisco	3:31.71
2nd	Al#1 Al#2 Al#3 Al#4	Albany	3:37.92
3rd	Ha#5 Ha#6 Ha#7 Ha#8	Haskell	3:39.56
4th	Ea#5 Ea#6 Ea#7 Ea#8	Eastland	3:39.71

## 110 M Hurdles

Place	Contestant	School	Time
1st	Jesse Rodriguez	Cisco	17.20

## 300 M Hurdles

Contestant	School	Time
	Haskell	41.96
	Cisco	43.42
	Albany	50.39
	Contestant  Martinez  Jesse Rodriguez  Rosales	Martinez Haskell  Jesse Rodriguez Cisco

## Long Jump

Place	Contestant	School	Distance
1st	Stormy Smothers	Cisco	20'-4"
2nd	George Calsadillas	Cisco	18'-7"
3rd	Jesse Rodriguez	Cisco	18'-2"
4th	Rosales	Albany	17'-8"

### Shot Put

Place	Contestant	School	Distance
1st	Y. Hawkins	Albany	42'-6 1/2"
2nd	Cody Griffith	Cisco	41'-10"
3rd	Justin Harrison	Cisco	38'-7"
4th	Burrus	Eastland	37'-9"
5th	Z. Hawkins	Albany	37'-7"
6th	Gosnell	Eastland	35'-11"

#### **Discus**

Place	Contestant	School	Distance
1st	Z. Hawkins	Albany	143'-4"
2nd	Russell Adams	Cisco	124'-0"
3rd	Y. Hawkins	Albany	120'-9"
4th	Kaleb Eaker	Cisco	110'-3"
5th	Smith	Eastland	109'-4"
6th	Munns	Albany	103'-0"

## Triple Jump

Place	Contestant	School	Distance
1st	Brothers	Albany	40'-10 1/2"
2nd	George Calsadillas	Cisco	38'-8 1/2"
3rd	Josh Bridges	Cisco	37'-0"
Jiu	Josii Bilagee		

## High Jump

Place	Contestant	School	Height_
1st	Stormy Smothers	Cisco	6'-0"
2nd	Berry	Eastland	5'-4"

### Pole Vault

Place	Contestant	School	Height
1st	Bradley Toler	Cisco	13'-6"
2nd	Nabors	Albany	13'-0"
3rd	Cory Pippen	Cisco	13'-0"
4th	Brady Murray	Cisco	12'-6"